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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  Distinguish between Cardinal Utility and Ordinal
Utility.
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b) Define Marginal Utility.
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c) Explain the notion of excess demand.
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When would you consider a market equilibrium
to be stable?
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What would be the sign of cross price elasticity
of demand for substitute goods? Why?
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Under what condition would total outlay/

expenditure for commodity increase even
though there’s a fall in the price of the product?
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When do we have movement along the demand
curve and what causes the shift in the demand

curve?
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Distinguish between fixed factors and variable

factors in the theory of production.
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What would happen to the production function

if there’s technical progress?
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If MP >AP, how will AP, change when L

increases?
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What would be the shape of isoquants if the

inputs are perfect complements?
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What do you mean by law of returns to scale?
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Explain the concept of opportunity cost using
an example.
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If the total cost function is given by TC=2q
where q is output, what would be the expression

for marginal cost?
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What is elasticity of factor substitution?
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Answer any four questions: 5x4=20
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2.
a)
b)
c)
d)
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Discuss and graphically illustrate the three

fundamental questions of economics.
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Explain the concept of producer surplus and

consumer surplus with suitable example.
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Identify the axioms of choice that determine the

slope and the curvature of the indifference curve.

Discuss.
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Distinguish between engel curve and income
consumption curve. Graphically illustrate the
income consumption curve in a two-good case

if one of the good is inferior. 3+2
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Answer any two questions:

How would you identify the economic and non-
economic regions in the isoquant map?
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Discuss the relationship between marginal cost
curve and average cost curve in the short run.
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10x2=20
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3.
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Explain the concept of income effect and
substitution effect for a price change and their
relationship with the slope of the demand curve.
Graphically illustrate the Hicksian substitution
effect for an increase in price of a commodity.
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Define laws of variable proportion and discuss
various stages of production. In which stage do
we think production should happen and why?
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Distinguish between short run cost and long run
cost. How is long run average cost curve
derived? Discuss briefly. 4+6
FEFI € NI TH-AF T 2112 6 2 wieiey
AR (4l I e 203 2 FACEHCA SETb 9 |
1)  Write the basic features of a perfectly

competitive market. 3
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11) In reality is there any market which
resembles a perfectly competitive market?
If yes, justify your answer. If not, can you
think of a market for a product (goods or
service) which comes very close to being
a perfectly competitive market? Gives
justifications for your answer. 1+2
AT T G (FING 2[5 S S I
A eforiforoneERs reiEs T e =i ?
YRR WS TeEd 7 Y@ wie | =i I
1 1 2P, Sl @ 7)ef efsraifarere®
AEICIF 2N A A= G (I ACHS
QN T T S e Ceraa 7210 e
s |

(6)



111) Suppose the market for fruits is at
equilibrium. What do you think might
happen to the equilibrium price due to the
super-cyclone Amphan? Provide the
economic logic behind your answer and

show the changes (if any) graphically. 4
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